
RTX

EP

AV

CS

IN

EL

AV

TO

PS

BV

1-800-247-9653  •  225 Airport Circle, Corona, CAPrices Subject to Change Without Notice 65

ELECTRIC STARTER, STARTER RELAY - 
STANDARD VERSION

Item
No. Part No Description Qty. 

Req. Price

1 250-140 O-RING 24.4x3.1 1 $7.14
2 850-500 O-RING 62x1.5 2 $11.38
3 242-780 COMBINED NUT M6 1 $4.06
4 260-800 CONNECTOR SHEATH 1 $8.30
5 230-530 O-RING 6x1.7 1 $2.97
7 250-130 OIL SEAL 15x24x5 1 $22.90
9 232-260 BALL BEARING 6002 Z / 15-32-9 1 $28.05

11 827-600 SHIM AR $4.95
13 260-810 CONNECTOR SHEATH 1 $9.66
14 264-180 CARBON BRUSH ASSEMBLY 1 $48.39
15 866-890 BRUSH HOLDER WITH SPRINGS 1 $70.47
16 974-524 DISTANCE HOSE 45 MM 1a CALL

- Items not illustrated
a	 Only for transport

ELECTRIC STARTER, STARTER RELAY
Item No. Part No Description Qty. 

Req. Price
1  1-7 685-974 ELECTRIC STARTER SET 1c $752.30

2 840-636 STUD M5x150/16 2 $17.42
3 950-420 O-RING 5x1.5-N 2 $6.65
4 847-248 SPACER 5.4/10/12 2 $5.59
5 927-571 WASHER 5.3 2d $0.21
6 945-830 LOCK WASHER A5 2d $0.21
7 242-071 HEX. NUT M5 2d $0.41
7 942-311 COLLAR NUT M5 2d $20.67

4-6,8-12 889-751 ELECTRIC STARTER SET 1a $675.63
9 851-020 CLAMP 76 1b $27.58

10 941-791 ALLEN SCREW M5x45 2 $1.08
11 945-830 LOCK WASHER A5 2d $0.21
12 842-030 ROTOR SUPPORT ASSEMBLY 2d $2.05

13-15 992-818 STARTER RELAY ASSEMBLY 1 $199.75
14 945-831 LOCK WASHER A6 2 $0.21
15 242-211 HEX. NUT M6 2 $0.41
16 960-719 CONNECTOR SHEATH 1 $0.66
17 864-011 FASTON CONNECTOR 6.3x0.8 1 $1.23
18 837-102 IDLE GEAR SHAFT 1 $27.60
19 827-261 THRUST WASHER 12.5/21.5/1 2 $3.17
20 834-156 IDLE GEAR 50/11 T 1 $190.43

- Items not illustrated
a	 See therefore: SB-912-037 current issue / SB-914-023
b 	 will be delivered in circle shape
c 	 standard starter 0.7 kW
d 	 Washer, lock washer and hex. nut replaced by hex. collar nut.

912 | 914 ENGINE

E-STARTER SINGLE PARTS
Item No. Part No Description Qty. 

Req. Price
1 250-140 O-RING 24.4X3.1-N NBR70 1 $7.14
2 850-500 O-RING 62-1.5 2 $11.38
3 242-780 COMBINED NUT M6 2 $4.06
4 260-800 CONNECTOR SHEATH 1 $8.30
5 230-530 O-RING 6X1.7 1 $2.97
7 250-130 OIL SEAL 15X24X5 NBR 1 $22.90
9 232-260 BALL BEARING 6002 Z / 15-32-9 1 $28.05

11 827-600 SHIM AR $4.95
12-15,1-5 294-354 ELECTRIC STARTER REPAIR KIT 1 $307.91

16 440-586 ALLEN SCREW M5X180 2 $29.37
17 927-571 WASHER 5.3 2 $0.21

- Items not illustrated
a	 Not available as single spare part. Use electric starter kit part no. 294354.

Standard Version

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/250-140.php
https://www.cps-parts.com/catalog/pnpages/850-500.php
https://www.cps-parts.com/catalog/pnpages/242-780.php
https://www.cps-parts.com/catalog/pnpages/260-800.php
https://www.cps-parts.com/catalog/pnpages/230-530.php
https://www.cps-parts.com/catalog/pnpages/250-130.php
https://www.cps-parts.com/catalog/pnpages/232-260.php
https://www.cps-parts.com/catalog/pnpages/15-32-9.php
https://www.cps-parts.com/catalog/pnpages/827-600.php
https://www.cps-parts.com/catalog/pnpages/260-810.php
https://www.cps-parts.com/catalog/pnpages/264-180.php
https://www.cps-parts.com/catalog/pnpages/866-890.php
https://www.cps-parts.com/catalog/pnpages/974-524.php
https://www.cps-parts.com/catalog/pnpages/685-974.php
https://www.cps-parts.com/catalog/pnpages/840-636.php
https://www.cps-parts.com/catalog/pnpages/950-420.php
https://www.cps-parts.com/catalog/pnpages/847-248.php
https://www.cps-parts.com/catalog/pnpages/927-571.php
https://www.cps-parts.com/catalog/pnpages/945-830.php
https://www.cps-parts.com/catalog/pnpages/242-071.php
https://www.cps-parts.com/catalog/pnpages/942-311.php
https://www.cps-parts.com/catalog/pnpages/889-751.php
https://www.cps-parts.com/catalog/pnpages/851-020.php
https://www.cps-parts.com/catalog/pnpages/941-791.php
https://www.cps-parts.com/catalog/pnpages/945-830.php
https://www.cps-parts.com/catalog/pnpages/842-030.php
https://www.cps-parts.com/catalog/pnpages/13-15.php
https://www.cps-parts.com/catalog/pnpages/992-818.php
https://www.cps-parts.com/catalog/pnpages/945-830.php
https://www.cps-parts.com/catalog/pnpages/242-211.php
https://www.cps-parts.com/catalog/pnpages/960-719.php
https://www.cps-parts.com/catalog/pnpages/864-011.php
https://www.cps-parts.com/catalog/pnpages/837-102.php
https://www.cps-parts.com/catalog/pnpages/827-261.php
https://www.cps-parts.com/catalog/pnpages/834-156.php
https://www.cps-parts.com/catalog/pnpages/912-037.php
https://www.cps-parts.com/catalog/pnpages/914-023.php
https://www.cps-parts.com/catalog/pnpages/250-140.php
https://www.cps-parts.com/catalog/pnpages/850-500.php
https://www.cps-parts.com/catalog/pnpages/62-1.php
https://www.cps-parts.com/catalog/pnpages/242-780.php
https://www.cps-parts.com/catalog/pnpages/260-800.php
https://www.cps-parts.com/catalog/pnpages/230-530.php
https://www.cps-parts.com/catalog/pnpages/250-130.php
https://www.cps-parts.com/catalog/pnpages/232-260.php
https://www.cps-parts.com/catalog/pnpages/15-32-9.php
https://www.cps-parts.com/catalog/pnpages/827-600.php
https://www.cps-parts.com/catalog/pnpages/12-15.php
https://www.cps-parts.com/catalog/pnpages/294-354.php
https://www.cps-parts.com/catalog/pnpages/440-586.php
https://www.cps-parts.com/catalog/pnpages/927-571.php

